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ZOOLOGY
(Horiours Generic/Regular)
Paper : ZOO-HG-3016/RC-3016
(Physiolo;qy and Biochemistry)
~ Full Marks : 60

Time : Three hours

The figures in the margin indicate
Sull marks for the questions.

Answer either in English or in Assamese.

1. Fill in the blanks : S 1x7=7
Ut O et 7 ¢
(a) Vassopressin hormone deficiency
causes ................. disease.

SRR 2T sore @[l @Ry T|

(b) Contraction of the heart starts at the
................. node.
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(c) .Leydig cells secrete ............

hormone.
caiﬁze[ CRRIF .oovcvvverrnr,. T H
FQI . '
(d) The peptic cells of gastnc glands secrete
"H?FQF?T S <t (oot @mﬂq@
BRITTITTTIoon ’ﬂﬁ‘]‘ A
e ................ is the protein part of
holoenzyme.
e, 2 (TR Bermea o B sl
() ‘Bundle of HlS is found in ...l .
e @i eeeereeaieeenens % S1EfFe |
g ............ gland secretes luteinizing
. hormone.
R SIfFTA STCORAIRIGR TN H99 1 |
2. Answer in brief : (any four) 2x4=8

vt e fm 2 (R o)
- {a) Define Michaelis constant,
NRHRR R W oy
(b) What is chloride shift ?
F'IRC PR o
(c) - Define synapse.
Y MR 7 e
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(d) Signiﬁdance of Urea Cycle.
TR T Sleo|

fe) What is muscle contraction ?

AN AP Lo B et

3. Write short notes on : (any three)

' 5x3=15
oY (Bret fori 8 (Rieeteent fofaion) o
(@) Oxygen dissociation curve

e R @
(b). B-oxidation of palmitic acid
Afbe afkes [or st -
fc) Krebs’ cycle -
(PR B '
(d)  Neurotransmitter
WA
(e) Role of hormones in female reproductive
system.

@W’a B9ITS I US|

4. What is blood coagulation ?- Describe in -
detail the mechanism of blood coagulation.

| - 2+8=10
IG SO a@m Fe (oo1 SowR enEan @'@W@
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Or [ §qf
. What is digestion ? Explain in detail the

physiological process of carbohydrate
digestion in man. 2+8=10
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5. Describe the mechanismfof Enzyme action ? _
Write a brief note on' Enzyme kinetics.
' 5+5=10
BT (IR 3 T | e seRERS @IS,
w m forn : |

or /| 93t
Define action potential. Describe in detail

the conduction of nerve impulse along a
non-myelinated nerve fibre. 2+8=10

& Rew’s @ ol e wigeer e

6. What is countercurrent mechanism ? Write
a short note on mechanism of urine
formation. 5+5=10

oy ot 1@ 2 @ Bestim aﬁszrﬁﬁm«ﬂﬁ
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Or /| g3t
Explain in detail the mechanism of Electron
Transport Chain in mitochondria.
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